TI4Hglg Structure:
AB6C4_tP22.104_a_2ac_c-001

This structure originally had the label AB6C4_tP22_104_a_2ac_c. Calls to that address will be redirected here.
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Prototype HglsTly

AFLOW prototype label AB6C4_tP22_104_a_2ac_c-001
ICSD 250133

Pearson symbol tP22

Space group number 104

Space group symbol Pinc

AFLOW prototype command aflow --proto=AB6C4_tP22_104_a_2ac_c-001
—Tparams=a, C/aa 21,22, 23, T4, Y4, 24, T5,Y5, 25

e The I-II (2a) site is only occupied 92% of the time.

Simple Tetragonal primitive vectors
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ay; = aX
as = ay
ag = CZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = z1 a3 = cz1 % (2a) Hg I
B, = %al—l—%ag—i—(zl—&—%) as = %ai—&—%ay—&—c(zl—ké)i (23) Hg I
B3 = Z2 as = Cz9 Z (28,) 11
B, = %a1+%a2+(2«'2+%) as = %ai—}-%ay—ﬁ—c(zQ—i—%)i (2a) I1
Bs = z3 a3 = cz3 % (2a) 111
Bg = sar+zas+ (23 +3) a3 = jaX+tay+c(z+3)2 (2a) I1I
B7 = T4 Qg + Yg A2 =+ Z4 A3 = axl g )A( + ays '5’ =+ CZyg 2 (8C) I III
Bs = —x4a] —Ygag + 24 a3 = —axsX—aysy +czaz (8¢) I1II
By = —ysai +z4a + 2483 = —ays X+ ary§ +cza 2 (8c) 1111
B = Yysa) — Tqag + 24 A3 = ays X — aryy + cz4 2 (8¢) I 111
B11 = (I4+%)&17(y47%)82+ = a(x4+%)Xfa(y4—%)y+c(24+%)2 (8C) I III
(21 +3) 23
Biz = —(mu—3)ai+(a+t3)a+ = —a(za—3) Xta(ya+i)y+c(au+i)z (8c) 1111
(1 1) 2
Bz = — (y4 — %) a; — ($4 — %) as + = —a (y — %) X—a ($4 — %) y+c (24 + %) Z (80) I 111
1
(z1+3) as
Bi = (n+dat(@m+at - alu+dxtafmtdsre(ati)s (o 1m
(21 +3) 23
By = Tsay + ysas + 25 as = arsX+aysy + cz52 (8¢) TI1
By = —xz5a; — Ysas + z5as = —arsX —ays y + cz5 2 (8c) T11
B17 = —Ys al + I5 a2 —|— Z5 as = —ays f( + als S’ + CZs i (8(3) Tl I
Blg = Ysay — Ty a2+25 as = 0,]*55(7(11‘5'5’4’6252 (8C) Tl I
Big = (xg,—l—%)al—(y —%)32-’- = a(:vs—i—%)f(—a(y—%)y+c(z5+%)2 (8¢) T11
(25 +3) a3
By = —(ms—3)ait+(ys+z)at+ = —a(zs—3)%ta(ys+3)I+c(sntsz)z (S TI I
(25 + %) as
Bai = —(p-3)a—(es—3)at+ = -—a(ys—3)%-a(es—3)+c(stz)z  (8) TI I
1
(5 +3) as
B = (ys+3) a1+ (z5+3) ax + = a(ys+3)X+ta(zs+3)9+c(es+1)2 (8c) T11
(25 +3) a3
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